Yavik Kapadia

Proof: Repository - hwé.1

Construct a proof for the argument: P - (R =+ 5),-S A P .. =R

1P (R—YS)
2| -SAP
31-S Simplification 2
41 P Simplification 2
51(R—YS5) Modus Ponens 4, 1
6| -R Modus Tollens 3, 5

I+ new line i+ new subproof

© Congratulations! This proof is correct.

check proof start over

Clear & Start a new Proof



Proof: Repository - hwé.2

Construct a proof for the argument: (R = =P) A (=S = =R),R .. S A =P

11 (R — -P)A(-S — —=R)
2|R
3 T—» -P Simplification 1
41 -5 - =R Simplification 1
51 -P Modus Ponens 2, 3
6 R Double Negation 2
71 --S Modus Tollens 6, 4
81S Double Negation 7
9| S A-P Adjunction 5, 8

I+ new line i+ new subproof

© Congratulations! This proof is correct.

check proof start over



Proof: Repository - hwé.3

Construct a proof for the argument: P =+ Q,P =+ (Q # R) . P = R

11P—Q
2| P~ (Q—~R)
3| |2
4 Q Modus Ponens 1, 3 E] I+
5 Q—-R Modus Ponens 2, 3
6 R Modus Ponens 4, 5
71P—R Conditional derivation 3-6
I+ new line i+ new subproof

© Congratulations! This proof is correct.

check proof start over



Proof: Repository - hwé.4

Construct a proof for the argument: P = Q,S = R . (-Q A =R) = (=P A ~S)

P~ Q
S—R

-Q A -R

-Q Simplification 3

Simplification 3

-P Modus Tollens 1, 4

-S Modus Tollens 5, 2

P A =S Adjunction 6, 7

(=Q A =R) = (=P A =S) Conditional derivation 3-8
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I+ new line i+ new subproof

© Congratulations! This proof is correct.

check proof start over



Proof: Repository - hwé.5

Construct a proof for the argument: P = (S =+ R), P -
(Q—5)-P—~(Q—R)

P—= (S —R)

2|P—=(Q—YS)

3 P

4 Q
Modus

5 Q—S Ponens 2, 3
Modus

6 5 Ponens 4, 5
Modus

7 5S—R Ponens 1, 3
Modus

8 R Ponens 6, 7
Conditional

9 Q—-R derivation 4-8
Conditional

10P—(Q—R) derivation 3-9

I+ new line i+ new subproof

© Congratulations! This proof is correct.

check proof start over



Proof: Repository - hwé.6

Construct a proof for the argument: .. (=P = Q) — (-Q
— P)

1 -P = Q

2| | |z

; o Modus Tollens
1,2

4 P g:;:l?on 3

5| |-0- derivation 2-4

6|(-P = Q) (-Q — P) sz;ggtti;rr:a:ﬁ

I+ new line i+ new subproof

© Congratulations! This proof is correct.

check proof start over



Proof: Repository - hw7.2

Construct a proof for the argument: P = [Q = (R —
S), QAR -.P—S

1T1P—=[Q = (R—Y9)]
21 QAR
3 P
4 Q Simplification 2
5 R Simplification 2
6 [0 = (R = )] :/I%dus Ponens
Modus Ponens
7 R—S 4.6
Modus Ponens
8 S 5 7
Conditional
IfP=> derivation 3-8
I+ new line i+ new subproof

© Congratulations! This proof is correct.

check proof start over



